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Exawple. Hwé # 28

Y& is a 2D mjerror/, assuntivg no fm/es otler flean Pavity. Yio)=<0,0>
[Vt = 150 m/s  and lawch aujlp 6o°

Q: The tie 0 o, Yoge of chyert , max l:ezjlw »

__AnSw»eY.

N

B)=<0,-9>  §-98m/s
V00)= < 150 osbs, 150smbe’> = < 15, 750 >
Vey= JSTdtc = <o -gtrte
Then wse Vo) = €0,0>+C =< 75,5037 = ¢=<75, 755 >
D V= < 15, -Jt47503 >
Tw: JVwd re = < frsdr, S >+
= < 75t, Lt BB+ C
Then s ?ro):<o,o> TC=<0,00 =& (=<0,0>
2y =< bt -iqti st >
— O Tome to hit e grand 7 verticek compousct ef e =0 e
f "L TR 20 & t-o od 1= B
e, Raunge .7  The ponizonkal (omporvtsct v6) uhen vt hits growd
Py t='25 i 75t & 175*'%5
- ® Max htiélct 7 Wen vertical onpowsd of V&) bemues O .
~GHBS -0 5 t= P



Then plug 1= Z% i Ayt ( verticel ouporcct of 7t0)
L e Ry s ) | "
Exanple : KW § # 3| ) |
1 A gdfer stauds 420 {t hor;zom‘ully from e hde and bo4t above e hole . /k;um::j
mitial speed of te balt 15 Poft/c At ubcet angle showdd it be hit 4o laud i hde
Answer. ,  Zx =<0, -9>

Vio)=< 1206650 , 120 cnep >

Yo =<0, 50>

Rauje =420

- , v
VY= < 1200050, -9+ + 1205m6 > e Clede)

—_—
YMH) = £ poes6ot, -4t + om0 t Y50

L Hit tu hole & wlen ¥y =0,  Tix = 420

Gre

i IoEs0 t = %20 9 t- —oeu

| 300056

' 420 i
~ 4o ) + Tro S ¥50 =0 Solue Fon 8

Use - Weakram cdphe to Ad zero poicd . H#
Sieeilan~ Mblent Hw 6 + &7

§ 2.8 Zewjﬂl &f (urves, St+)

4> Y= <X, yH), 2040 /&/\—;/ , 7
S fa Ir'ml dr = ST JXaryart 2w dt
Rewmark: +f ol =1, then the paranater t covesponds to_arclength S, ;e .
V) i ’ammdemed b/ arc 'eujfh too
2y Y= f®)

L= | P T Forgmy de




_E_Xawf;le < Old Midtern -
_ Twp rajectories for @ (ertain rocket ave nwdeled by ﬁﬂ') and fz_(\f) ,
Which ic longer rom o0 to t=3
i T =<1, 21-5 Lmect’, ¥ 4>
CAnswer: L= [l vl di
e = <, 2> Rl E J 2 =J5
Y= <2t > 1m - gttt ®
Li=J3 05 dt = VB tli =35 At
La= J2 Iacar dr = §5 tlate dr
Leb y= 4+t>  dy<otdt

Sedarm = JI7tdy = 2 fy3dy =2y = 4yt
L= 3e)il = S(amiaiqd ap
Lz?L' ;ﬁ:

Exa-«{jp Hwo # 4
 Deterniie whetlher Hee followsicg Curve use: arc lewgth a5 a poraweter I nct 4 d
- a deeription e Uses are length a5« parapater
ren= L7, ¢, agt:>  1<t< 4
Answer. s = [ e dit
Y= < at, lbt, 454+ >

~ N
!)"'(H\ = \/ G+ 23’6+'+’6‘?_6t’ - 26t

S(f)—' J;t lé't d* = ,z_tz"lt — ’3+,—‘}
2. SH3Z
T= - - |+—’%
?(S) = < 't%'H, 8-(“‘-,%)’ 2% .('4—_'%) > "

Poblenqs i Pelor toorvdiucehes ?
Precctice  HW § # -37——37 #



